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j:,1>‘"}i‘~<31"01' the polynomial z* + 522 _ 36 completely
.O (z—2)(z + 2z 9)

H© (@ +2)(2? 4 9)

@ - 922 1 g)
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" tio ‘numbers from {~7, —v/5, —2.—

0, 1,'2%, V25, g} is

1
'67
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| ITa, band c are real numbers with a = b, then




Let z,y € R and 2 a complex number. Give the values of = and y that makes
‘z A pure imaginary complex number.

c=(z—V5)+(@—VT)i—1

O z—1+V5y#£VT
O z=1+5y=V7
,'..;'17=\/5'1y7£ﬁ



EER 2 __ -y-l
¥ the complex fraction G







positive number.
e following expression by rationalizing the denominator,




Lar questons in exam. 20 | Answered:;

~uestion No. 1

~ictor completely the polynomial z°y* — 64y°

7 (r — 4)(x? + 42 + 16)
g (r +4)(2? + 4z + 16)
Ty — By)(xy + BY)

r — 3)(z% + 3z +9)




~uestion No. 2

, . I —
Simplify the complex fraction o

y —a”




tal questions in exam: 20 | Answered.

uestion No. 3

“slve the equation 27z° — 64 =0

{—2+2iﬁ 2-2iV3 4
SEE R



vt
Total questions In €xam: 20 | Answ.

Question No. 4

oy - s o Tl —— e

-4+ 1)
- (x—2)p
(X -+ 4)(X ia 1)
(x+2)




a quadratic equation




Jlar questions in exam: 20 | Answered: 20

Question No. ¢

_ : +1 “_
Find the quotient == x3 :
x—1 X1

2
x°—-x+1

- e |
xZ+x+1
i |
x%+x+1

x+1
x+1

x%—x+1




Total questions in exam:. 20 | Answered:. £U

Question No. 7

The expression x-2x +4 can beclassifiedas a
trinomial
monomial

binomial

non of these



uestion No. 10

1 - 17, .

The set of natural numbers from {—7. —V/5, —2. —5.0.1.22. V25, —} is

1,1 17
(-V5.-5,0,23, V25, =

(1.v25}



Question No. 14

~uppose that n € Nand n < 4.
"he degree of the polynomial By — 2%y + 1%2).(y 2% - 27y + 50%)

n+12

13

12

(n+4)(n +3)




'otal questions in exam: 20 | Answered: 20

Question No. §

m

. 2.:132r3+41r-3
Let x € Z. Simplify the following expression a = 3;"

a=—3q
a=—3
=33

a —



astion No. 13

nd the value of ‘¢’ that will allow this polynomial to be written as a perfect square
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Question No. 12

| et a, b real numbers. Give the condition that makes the equation (3a + 1)x + 3 = 3x - b + 2 an identity equation.

u:%andb=-—l
a#—3andb# -1
u:—%andbzl
u;é%andb#—l




Question No. 11

'actor the polynomial z* 4+ 522 — 36 completely

(12— 4)(x? +9)

(r—2)(x +2)(z% +9)

(r + 2)(z% + 9)

(r — 2)(x + 2)(z + 3)(z — 3)




oo I eXam: 20 | Answered: 20

Question No. 18

letaeRand0<a<9 . Simplifv the following Xpression \/a — 6,/a + 9
va—3

; = \,""”




{HESULIS N eXam: 20 | Answered: 20

Question No. 17

| 'sing set notation, write the elements belonging to the set

(r|x= n? + 1, n is a natural number less than or equal to 5}

(,2,8,4,5}
{1,2,10,5,17}
(2,5, 10, 17, 26}
{2,5,10,17}
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Juestion No. 16

. x+1 .
The domain of i & 1S
R\ {3, 3}
R\ {-3, 3}
R\ (3, =)

R\ {3}



Question No. 15 "IN

LetU={-3,-2,-1,0,1,2,3,4,5,6},A={-2,0,2,4,6},B={0, 1,2, 3,4,5,6}and C = {0.-1. 4.-3. 6,-2} .
Fnd(ANB) UANCQC).

(-8,-2.-4,1; 8.5
(0, 4, 6,-2)
(-84, 1,2, 8,5}
(_3_2_-1.1.3. 5,2}




TR i exam: 20 | Answered: 20

“luestion No. 28

otr,y€Rand 2 a complex number. Give the values of z and y that makes
A pure imaginary complex number.

=(Z—V5) +(y— VT)i—1

.17=l+\/-§.y=\/?
_,-=1+\/5,y€R
r=1+5.9#V7
r=V5,y# VT




| * Wiowoitu. LU

Juestion No. 19

Simplify: (2-5i) - (3+4i) - (2+)

-3+10i
3+10i
3-10i
-3-10i




NS In exam: 20 | Answered

uestion No. 9
:lect the correct property that describes the given equation

«12) x3=8x(12 x3)

Inverse property of addition

Associative property of multiplication

\dentity property of addition

Commutative property of addition




